2% Ry7

1 KXOHED ~ostz~

FEE i R4

1 ROFHREZ LSV,

(1) 92—6b—3a+5hb (2) 2x° —6x—x—3x°
=(9—38) a4+ (—6+5) b =(2—-3) x*+ (—=6—1) x
6a—b —-x?—7%x
3 1 2
(3) 5ab—6a—3ab+5a (4)?x+?y*2x*§y

=(5—38) ab+ (—6+5) a __“1_2) +(i“,5)
T2 x o 3’7

2ab—a —%X—%y

2 WOFHREZ LIRSV,

(1) (2x+y) + (—4x +2v¥) (2) (34 —2y) + (2% +5vy)
= 3x—2y+2x +5vy

=2x+y—4x +2y
=(2—4) x+ (1+2) y = (34+2) x+ (—2+5) vy

—2x+3y 5x+3y

(4) (=3 x—8+2y) + (2x+5y)
=—3x—8+2y+2x+5y
= (—34+2) x+ (24+5) y—8

(3) (4x—y) — (5x—3vy)
=4 x—y—5x+3y
= (4—5) x+ (—1+3) vy

—x+2y —XxX+7y—8

(6) 9a—4b—3
— ) 2a—6b+2

(5) (2a?—3a+4) + (a*’—6+5a)
=2a’—3a+4+a’—6+5a
=(2+4+1) a’+ (—3+4+5) a+4—6

3a?+2a—2 7a+2b-—5




